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results	
  



Fi/ng	
  Func5on	
  candidates	
  

•  Sqrt(P0+p1/x)	
  

•  Sqrt(P0	
  +	
  (p1+p2/sqrt(x))^2)	
  



With	
  Func5on	
  1,	
  MC	
  check	
  
•  1)	
  MC	
  without	
  smearing	
  on	
  Barrel	
  +	
  Detector	
  Veto	
  
•  2)	
  MC	
  without	
  smearing	
  on	
  Barrel	
  
•  3)	
  MC	
  with	
  smearing	
  on	
  Barrel	
  

P0	
  :	
  overes5mated	
  CsI	
  
resolu5on	
  in	
  MC	
  
P1	
  :	
  aQer	
  smearing,	
  MC	
  
reproduces	
  data	
  well	
  
	
  -­‐	
  result	
  of	
  cosmic-­‐ray	
  
	
  	
  	
  data	
  analysis	
  is	
  used	
  

Smearing	
  



Spectra.	
  &	
  Fi/ng	
  

•  FiWed	
  with	
  Gaussian	
  
–  Mean	
  :	
  Offset	
  
–  Sigma	
  :	
  Time	
  Resolu5on	
  affected	
  by	
  CsI	
  and	
  Barrel	
  

•  All	
  modules	
  are	
  integrated	
  

*Run64	
  

[MeV]	
  



Module	
  stability	
  

•  Evalua5on	
  of	
  Barrel	
  Calibra5on	
  from	
  Fi/ng	
  of	
  
Vertex	
  Time	
  Difference	
  distribu5ons	
  

Module	
  ID	
  

*Run62	
  

Module	
  ID	
  

*Run69	
  MB	
  

Module	
  ID	
  

*Run69	
  IB	
  



CASE1	
  



CASE2	
  



CASE3	
  



MC	
  without	
  Resolu5on	
  of	
  MB	
  
•  Even	
  if	
  Barrel	
  Resolu5on	
  is	
  0,	
  resolu5on	
  of	
  
Vertex	
  Time	
  Difference	
  is	
  dependent	
  on	
  Barrel	
  
deposit	
  energy	
  
– Does	
  barrel	
  deposit	
  energy	
  selec5on	
  affect	
  CsI	
  
selec5on?	
  

Remove	
  resolu5on	
  of	
  CsI	
  &&	
  
No	
  Main	
  Barrel	
  Resolu5on	
  

Good	
  Pair	
  only	
  

Not	
  So	
  effec)ve	
  



Energy	
  deposit	
  in	
  the	
  case	
  of	
  bad	
  pair	
  	
  

Many	
  bad	
  pair	
  events	
  

Energy	
  deposit	
  



Good	
  Pair	
  &&	
  
No	
  MB	
  Resolu5on	
  &&	
  
No	
  CsI	
  Resolu5on	
  



CsI	
  resolu5on	
  effect	
  	
  
•  Vertex	
  Time	
  difference	
  in	
  6g	
  
•  6g	
  yield	
  dependency	
  on	
  5me	
  resolu5on	
  
•  Cases	
  
– Run62(bad	
  calib.),	
  Run64(good	
  calib.),	
  MC	
  
default(overes5mated),	
  MC	
  with	
  no	
  CsI	
  resolu5on	
  

•  6g	
  yield	
  
– MC	
  default	
  :	
  53420	
  
– MC	
  with	
  no	
  smearing	
  :	
  53681	
  

CsI	
  

CsI	
  

Highest	
  energy	
  
selec5on	
  (Red)	
  

Vertex	
  Time	
  Difference	
  =	
  
VertexTime(Red)	
  –	
  
MeanVertexTime(Blue)	
  



Vertex	
  5me	
  difference	
  in	
  6g	
  
Run62	
   Run64	
  

MC	
  default	
  

MC	
  (no	
  smearing	
  on	
  
CsI)	
  



Gamma	
  Reconstruc5on	
  dependency	
  
on	
  Gamma	
  Energy	
  

•  Vertex	
  Time	
  Difference	
  between	
  two	
  gammas	
  
•  No	
  Smearing	
  on	
  CsI	
  for	
  this	
  study	
  
•  Condi5on	
  
– 100<GammaEi<200	
  &&	
  100<GammaEj<200	
  ..	
  [MeV]	
  
–  [100,200],	
  [200,300]	
  ….	
  

•  High	
  Gamma	
  Energy	
  -­‐>	
  Large	
  Sigma	
  of	
  gaussian	
  



[100,200]	
   [200,300]	
  

[300,400]	
   [400,500]	
  

[500,600]	
   [600,700]	
  

[700,800]	
   [800,900]	
  

[900,1000]	
   [1000,1100]	
  



With	
  Regard	
  to	
  #CsI	
  Channels	
  

GammaE	
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[2,4]	
   [4,6]	
  

[6,8]	
   [8,10]	
  

[10,12]	
   [12,14]	
  

[14,16]	
   [16,18]	
  

[18,20]	
   [20,22]	
  

#CsI	
  Channels	
  



Brief	
  summary	
  
•  Low	
  energy	
  deposit	
  selec5on	
  -­‐>	
  
•  Low	
  energy	
  photon	
  selec5on	
  on	
  barrel	
  -­‐>	
  
•  High	
  energy	
  photon	
  selec5on	
  on	
  CsI	
  -­‐>	
  
•  Worse	
  quality	
  of	
  Gamma	
  Reconstruc5on	
  

5th	
  GammaE	
  

ED
EP
	
  



P.O.T.	
  

•  Run62	
  :	
  1.39e18	
  
–  /300	
  =	
  4.63e15	
  -­‐>	
  8.33e8	
  
–  #	
  KL3pi0	
  reconstructed	
  :	
  9110	
  

•  Run64	
  :	
  4.38e18	
  
–  /300	
  =	
  1.46e16	
  -­‐>	
  	
  2.63e9	
  
–  #	
  KL3pi0	
  reconstructed	
  :	
  31347	
  (9941)	
  

•  Run69	
  :	
  5.21e17	
  
–  /70	
  =	
  7.44e15	
  -­‐>	
  1.34e9	
  
–  #	
  KL3pi0	
  reconstructed	
  :	
  12799	
  (7950)	
  

•  MC	
  Genera5on	
  
–  KL3pi0	
  Gen	
  :	
  1e6*2000	
  
–  #KL	
  ~	
  5.13*1e6*2000	
  =	
  1.03e10	
  
–  #	
  KL3pi0	
  reconstructed	
  :	
  132659	
  (10729)	
  

With	
  3.6e7	
  #KL	
  =	
  2e14	
  POT	
  

POT	
  -­‐>	
  #KL	
  

Black	
  :	
  Run62	
  
Blue	
  :	
  run64	
  
Red	
  :	
  MC	
  

CV	
   NCC	
   CC03	
   BCV	
  OEV	
  BPCV	
  

Single	
  Veto	
  Efficiency	
  



With	
  Func5on	
  1,	
  data	
  check	
  

•  Black	
  
– Run62	
  

•  Red	
  
– Run64	
  

•  Green	
  
– Run69	
  MB	
  

•  Blue	
  
– Run69	
  IB	
  



CASE1	
  



CASE2	
  



CASE3	
  



CASE4	
  



With	
  Func5on	
  2,	
  data	
  check	
  

•  P0	
  of	
  Func5on	
  1	
  
– P0	
  of	
  Func5on2	
  

•  P1	
  of	
  Func5on	
  1	
  
– =	
  p2^2	
  of	
  
Func5on2	
  

•  P1	
  of	
  Func5on	
  2	
  
– Too	
  small	
  
– Range	
  of	
  p1	
  
•  [0.001,0.3]	
  


